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E=pr BHlES E=S & EE(HmE0D) | Kt ES £
mAEE=(kg) B B =17
8225100 13,800 , 2,490 3,250
13 t TARF 1 (fE5K) e S| 1,030(+200)
= 15-67 ZHEER(E%) |@ma@s)|mawms)| &sn
11,150 9,500 2,405 700
=AEEH=(kg) =T ==1rin) =17
12 t SEARF 825100 6,800 8,970 2,470 3,360 | 150
(EF7TE) = 15-68 =HEER(E%) |@ma@Es)|mams)|  &sn '
8,100(3819,580) | 6,000 2,350 600
A= (kg) E=Irin) ==1rin) =<7
12 t TR #225100 7,300 , 2,470 3,090
T e ] (e 1,150 BABLAEE 2,930k
(TL—2>A1) = 15-69 =BE8(E%) |@ma@s)|mawms)| &sn
7,700 6,000 2,350 600
=AEEH=(kg) =T B =17
‘ #A100 7,700 9,540 2,490 2,860 _
1 t AR PR i _ 1,270 AR R
(& 8-89 =HER(E%) |@ma@Es)|mams)|  &sn
7,330 7,290 2,240 800
— mAEE=(kg) =T B =17
Bte—IFr—O0—45— FEFE100 R 5,600 2,340 3,100
O B __ [ 9290 | 1,130 BABLAEE 2,930k
(TL—2>A1) (% 24-94 - =HSER(E%) |@ma@s)|mams)| &sn
7,380 5,500 2,150 400
=AEEH=(kg) =T 1) =T
Bt—J5Fr—0O0—45— 225100 6,800 , 2,310 2,920
I7A e 9,660 1,150 BAS LS 2,930kg
(TL—2>41) = 26-24 FHEES(BR) |@a@T)|#Ea(RsT) F:2Y:10)
7,750 5,580 2,220 385
RAERE(kg) [ =m E=] &
Bto1>J8 6,000 8,660 2,490 3,530 il
(F—ILF— KU Do) ZEEE(EE) [ma(W[Ea W) maT) ’
6,920 6,200 | 2,400 2,350
mAEH=(kg) ==ini) ==1rin} E=lni}
18 t BRAEEEN FHE=100 4,400 6,420 2,200 2,500 L
1,325 8ma>F
(7—L0O—)LEE) (& 24-95 FHEES(BR) |@Ea@T)|#Ea(RsT) HED
5,210 3,600 1,900 1,200
mAEH=(kg) ==1in) ==1in) E=Tni]
4t EEBN 225100 2,500 6,190 2,230 2,450 o
1,325 8mMa>>7
(7—L0O—)LEE) LY 71-21 ZEEHEE(HZ) |@&(RT)| /&) HED
5,440 3,600 1,900 1,200
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BHiE HRES g2 & EE(HmE0D) | KRt LS wZ
mAEE=(kg) ==1rin) ==1rin) ==15)
4t FRT o 883100 3,050 8,480 2,480 2,710 1,050
(7= — bU D51 L\ 74-63 FEBE(EE) |@&AART) | BERT)
4,820 6,150 2,350 700
— A= (kg) ==1rin) ==1rin) B
4t TR 8845100 3,300 8,680 2,450 2,850 e
= 89-83 FHEBE(EE) |@E&AET)|EasT)| &80
4,740 6,700 2,350 600
=AEEH=(kg) ==1rin) ==1rin) ==1ri)
4t TR (O3 ) FEE100 3,850 8,950 2,470 2,780 1,100 —
¥ 21-18 FEBE(EE) |@EaET)|EamsT)| &80
4,540 6,200 2,350 600
mAEE=(kg) B B =17
R AEE800 1,950 7,010 2,200 2,730 800
= 98-64 FHEBE(EE) |EAET)|Ea@sT)| &80
5,910
RATERE(Kg) i) ES] E&]
2t FRFT+ AEZ5100 ,’ 2,000 6,150 2,020 2,200 930
(=T — U TH1T) L 71-22 S - EHEES(HR) |@maAY)|EEWY) HBD
NS 3,110 4,350 1,900 390
RAERE(Kg) 5] ES] E=T]
2 t FIRT o 8E45100 2,000 6,350 2,220 2,170 50
(T—ILT— NU T 5fH) & 75-07 FHESEE(BR) |maws)|@mawm)| »so
3,340 4,370 2,050 400
mAtEs=(kg) ==1rin} ==1rin} E=lni}
2t RT o BEE3400 2,000 4,690 1,690 1,980 300
(F—ILT— MU D) T 9-94 rHEEE(BR) |maw)|mawm)| ssn
2,530 3,035 1,600 380
mAtEsk=(kg) =<1} =<1} E=Tni)
T 8825130 1,000 4,840 1,880 2,050 650
t 5-90 FZHESE(HRZ) |@s@T)|&mamT) F:oYia10)
2,040 1,850 1,270 | —-—
ERAEABEIE =1 ErgHE VERE1R
“ 0.99t 2,000 | 27.1kw 2.2LF
Iy IR 2X500-58 ﬁ\ =5 BoATeD | B | B0 LTAE
: 5,010 6.4 2.3 0.9
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